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Use Blue/ Black Ball Pen only

Break open the seal when directed to do so by the invigilator

READ THE INSTRUCTIONS CAREFULLY BEFORE ATTEMPTING THE QUESTIONS
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Fill in your Roll Wo., Mame, Father's Name, Name of the Forest Cirgle and Answers in the Answer Sheet with
blue'black pen only.

The Question Booklet contains questions in English and Himdi

In all there are 80 questions in the paper. Each question has 4 responses i.e. A, B, C, D and of these only one
ia correct. Yoo are to find out the comect answer e.g., if answer 1o the Q. No, 30 is A then enter A in the box
a0 All questions are compulsory,

(2]
There should be no cutting or overwriting.
Enter *X' in the box for an unattempied question,
A correct Answer for each question carries 0.75 marks. There is no negative marking.
At the end of examination, return the Answer Sheet to the Invigilaior.
Do not write on the Question Bookbet. Use the additional page provided in the Question Booklet for rough
work.
After emtering the Examination Hall o candidate will be allowed to leave the Hall after the paper is completed
and returned
The duration of the examination is 65 minwes.
Lise of calculutor, cell phone or any electronic device is not allowed in the Examination Hall.
I case of any variation in Englesh or Hindi version of guestion(s), English wersion will be taken as comect.
Lise of unfsir means will disqualify the candidate.
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(u) et T (st) T T2 =wEn
() et A A (=) == ¢ w=en
frm e A OB W e’ wfusik w1 oA R P
() W (d) W
(gt} Tna (E1) W

= & o ¥ aenwwdln % fmoow v T

(a) rere () T
(wft) wora (€1) wweia
frafefan e & @ ‘wfa’ w1 e wfEm 'O
(7) = (o) et
et} waf (€7) wot
fmia yrez w1 wED e

{v) = (dt) e
(sft) Baen (¥1) wfe wgae
Prefafas weet 4 9 oW e W o= wafmErh #
(w) w-wiom (wt) -
(wft) ey - (=) wemmEn-aie

‘it @ am EW TE WEE A FH W owE E

(u) wdom W= (dft) g™

(dt) ofrsm = (21) wfere wfsn w@

‘g v w1 Temw wETT ¥ oW A 87

(w) =g (@) =

(##) == (%) =-sis

fr= amFd 8 A Y AW T

(@) 4% = W W= B () & = o W #
(#) w@ = W W f (#) 58 = = = W #
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A

10. @ fam et atm Al ® SEwW ¥ oSen WE @ oW sEd 87

(n) = () s
(dit) = () =
11. | prefer biue pen black pen.
(A) from (B) than
(C) to (L) at
12.  They are not as intelligent as :
(A) our (B) we
(C) us (D) their
13.  The feminine of the noun “Lord’ is:
{A) Lass (B) Lad
{(Cy Woman (D) Lady
14.  How many vowels are there in ‘Outstanding?
(A) 4 (B} &
€3 (o 3
15.  This apron has no pocket to .
(A) put thing (B) putting things
(C) put things in (D) 1o be things put

16. Choose the cormect one.
{A) The Ganga is the holy river, {B) The Ganga is an holy river.
(C) The Ganga is a holy river (D} A Ganga is a holy river.

17.  Choose the correct meaning of the word in italics. ‘She felt morose’.

(A) Sad : {B) Uncertain
(C) Anxious (D) Happy
18.  Choose the correct meaning of ‘Candid”.
{A) Impartial {B) Straightforward
(C) Honest (D) Just
19.  You promised to come, but you didn’t tum
(A) up (B) out
(C) in (D) at
20, What is the antonym of ‘Legal*?
(A) Unlegal (B) Ilegal
(C) Inlegal (D) Dislegal
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A

Volume of a cone of radius ‘' is equal to:

{A) 1/3nr*h (B) 2/3nr?h

(C)mrch (D) 4mr?

vy famst fem v @ o= s Pefefam § @ feos wmm g
() 1/3nrh () 2/3nrh

(#t) mrih (#) 4nr?

The amount of Rs. 7500 at compound interest of 4% per annum for two years is;
(A) Rs.7800 (B) Rs.8100

(C) Rs.8112 (D)) Rs B0E2

7500 ¥, W1 WwAfE wW W 4 whew W A N g4 A fEEw oy e
(u) 7800%. (w1 a100%.

(") s112F. (=) sosr®.

If 23% of *A° is 46, then the value of *A’ is:

(A) 200 (B) 100
{C) 300 (D) 150
afz ‘n’ w1 23ufaE 46 W W ‘T W oWE W owem?
(m) 200 (d) 100
(¥1) 300 (=) 150
If three angles of a quadrilateral are 100°, 98° and 92" then the fourth angle is:
(A) 82° (B} 70°
() Lw® (D a0°
ofe wadw # At wWO100°, 98° s 92°® W e wm feww gon?
(w) 82° () 70°
(=) 110" (=) 60°
The sum of the angles of a triangle 15 equal 1o:
(A) 180° (B) 3607
(C) 2707 (D 90
faqm & = = Wy forw e &2
{w) 180° (#1) 360
(®\) 270" (=) «0°
3
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A

The product of 4% and Txy polynomials is;

(A) 2Bxy (B) -28x%y
(C) 28xy* (D) -28xy*
A W Txy TR W e e E
(T) 28xy (d) -28x"y
(%) 28xy* (Zh) -28xy’
If Sin A= 3/Sthen value of Cos A will be:
(A) 45 {B) /3
(C) 314 (D) 12
e SinA=35# @ CosA fFa ¥y
() 45 (@) 35
(#) 34 () 12
FE_ oS, i

i ! en value of x is equal to:
(A) 108 (B) 4800
(C) 2916 (D) 324

ey

;T AT x| oA e B

() 108 (dt) 4800
() 2916 (#) 324

A!lulwin:isinlh:fmmufisqum!.ﬂumwireisbcm' the form i 'ha
will be the area of the circle if the side of SQUALE is 7 uniis? o e
{A) 2m square units (B) 47 square units

(C) m square units (DY) m/2 square units
tﬁmﬁuﬁmmﬁmﬁmmﬂt!ﬁuﬁwmmﬁmmirﬁm
q&mdwmmu‘nn.wﬁuﬁmwrmt?

(%) 2nwi =rss (W) dnari wrww

() mort wrww (%) n/2ef ww
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A

If the least prime factor of *a” is 3 and the least prime factor of *b" is 7 then the least
prime factor of (a+h) is ;

(A) 2 (B) 3

() 7 (D) 10

oft ‘o' %1 wEE B s vz 3 # s b oW TR g s

TEETE 7 # W (ath) W SN UEETE ¥R

(@ 2 () 3
(&) 7 (¥1) 10
Find the next letter in : bedbeebefbeg
(A)b (B) ¢
(C) h oy i
bedbeebefbeg ® amTem R FE EWY
(Tb (@) e
(¥t h ()i
If BORE = ERBO, what is SPAR?
(A) RAPS {B) APSR
(C) PSAR (D) RASP
afs BORE = ERBO, ¥ SPAR 71 #m?
(u) RAPS (d) APSR
(#) PSAR (#t) RASP
Find the missing number (7):

9 |5 |8

L - 5

3 |4 |5

135 | 140 | 160
(A)4 (B) 5
(Cy3 (D) &
‘W W oW OsR oW dF g

9 [5 |8

5 |7 |7

i |4 |5

135 | 140 | 160
(m)4 ()5
(#)3 (Z)6
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A
Find the next letter in : brcdnefgnhijk
(A) k (B) j
(C} m (D) n
bnednefgnhijk ® N 3w wW ¥
® k () j
(#) m (1) n
A cube is painted from all sides. It is cut into 64 cubes of equal size. How many of these
smaller cubes are unpainted?
(A)2 (B)4
(C) 8 (ma
e wdt wE B T g TE (FgE) ¥ 64 wow el & v oW W o
% fkmd e (ww) w7
() 2 (df) 4
()8 (=) 6
Find the missing value (7)

o] [=] [=] |»] w) o
(A) 11 (B) 9
(Cy 7 (D) 5
‘P W TR W W W st g
le] J=] (=] [»

@ 1 () 9
(##) 7 (#) 5
If + means x, + means + and - means + then solve 243-3 =5,
(A) 9 (B) 8
7 (D) 6
ofy +F WH W+ F WA W+ M-F R wWw M35 F W oF
{m) 9 (dt) &
() 7 (%) 6

[
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A

A is 3 years older than B and 3 years younger to C, while B and D are twins. How many
years alder is C than D7

(A) 3 (B) 6

(C) 2 (D) 12

SR EEE R EE R R R L CL
W @, % 7 fwewm wmoEme

(@ 3 (@) 6

(+f) 2 (#) 12

In a row of trees, one tree is fifth from either end of the row. How many trees are there in
the row? .

(A} 11 (B) 10

€y 9 (D) 8

ofe ww dfEm F Fr tr wew 4 v @ o wm ow @ W oW dfEw A
famy T2 2

m 11 (<) 10
(#) 9 (#) 8
Solve, 3+3x3.

(A) 18 (By12
(€) 9 (D)6
I+IxIH T W

(m) 18 (d) 12
(#t) 9 () 6
pH of a base is:

(a) 7 (B <7
() =7 o =7
ar ¥ pH ferdt €t #7

(@) 7 () <7
() >7 (#1) =7
In human eve, image is found at:

{A) Pupil (B) Iris
(C) Comea (D) Retina
e W R AR W wiefas sl w87

(m) wEt W (dit) ofvefis w
() v dEE W™ (Z) Fews =

7
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A

Vegetable oils are converted to vegetable ghee by the process of hydrogenation. It is :

(A) addition reaction (B} substitution reaction

(C) decomposition reaction () oxidation reaction

FEgeET g W dw W aea =t d weerm few v = sfalen €2

(u) v siffwa (dt) whresm sfafem

(#t) sz afafEm (21) sowmm sfufiem

Ifa hydrocarbon has triple bond it is

(A) Alkene (B) Alkyne

(C) Alkane (D) All of the above

ofe fedt T A fioamew @ @ W@ oW oW @

(@) T (#) T

(¥ft) T () 3w W@ A

Which of the following is liquid at room temperature?

(A} Chlorine (B} Bromine

{C) lodine (DY) Fluorine

frefefian & # F19 ® Awe W W T swem § W W 87

() F=HEE (dt) st

(#f) s (€} =i

Green plants are:

(A) Autotrophs (B) Heterotrophs

(C) Saprophytes (DY) Parasites

£ o grm & fam A

(w) it # (d) wgerdt 2

(xit) werarer # (%) wraEt #

Bowman's capsule is found in:

{A) Small intestine (B) Kidney

(C) Heart (I¥y Brain

Wi dyr fefafies & @ fead o oo # 2

(¥) =& siiw (@) 575

(+) w2 (%) wfoms B
B
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The image formed by convex mirror is:

{A) Real, inverted and small
(C) Vinual, erect and small

IO TN G W W whafee
(W) =wafes, a7 5w gm
() smamdt, s | @ wm

Unit of electric resistance iy -
(A) Ampere
(C) Wan

fawsft wforiy =1 @ .

(v) wmimm #
(df) == #

www.rrbrecrultment.co.in

(B) Virtual, inverted and smal|
(D) Virtual, erect and large

(#) smamdt, ser =7 @ oFwm
(¥1) smamdt, W@ @ o owm ¢

iB) "m’nl.t
(3} Ohm

(a) wwe #
(1) simm #

What type of mirror is used in vehicles for rear view?

{A) Concave mirror
(C) Convex mirror

{B) Plane mirror
(1) None of these

ﬂrﬂmﬂ#ﬂiﬂm%ﬂﬂsm#mmmmi?

(u) w=we =dm
(dt) e =dm

Arcawise smallest state in India is?
{A} Punjab
(C} Kerala

ﬁmﬁmﬁmm!‘mm:

(x) o #
() = ¢

Mr. Kuldeep Nayar is associated with:

(A) singing

(C) acting

st FEEN den W owaey
) TEwt g #

(wt) wfiem | &

(@) womer o
() ¥ & w5 =i

(B} Tripura
(D} None of these

() o &
(=) =@ A =

(B} atomic research
(D) journalism

() s s & #
(%) wwmfmm @ #
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In which district of HP, Chander tal is located :

{A) Kinnaur (B) Shimla

(C) Lahaul & Spiti (D) Kangra

waw fooew wen % fem faw @ femm

(m) fo=ik () fererem

(i) wmaten-fefir (¥1) wime

America was discovered by :

(A) Columbus {B) Vasco da Gama

{C) Alexander {D) MNone of these

sfewt %1 @ e S0

{u) =rermm (@) =R BT T

(wft) faw=t (#) ¥ & wrf
Wha is the present Secretary General of United Nations Organization?
{A) Barack Obama (B) Ban Ki- moon

{C) Melson Mandela (D) None of these

duwn g dy % wdwm wewtEE wE R

(w) =mE T (d) == F-g

() “eEe dEen (=) ¥ & =
Who is the Forest Minister of Himachal Pradesh?

(A) Sh. Virbhadra Singh (B) Sh. Kaul Singh Thakur
(C) Sh. Sudhir Sharma (D) Sh, Thakur Singh Bharmouri
fawras ww % wA =l w0 R0

(o) &t dae fiw () s == fiw =
{dt) ot maw el (1) st o fdw wod
‘Operation flood” is related 1o :

(A) Flood control (B) Milk production

(C) Water harvesting (D) All of these

‘s TR W oW Prefefaw d R e B

() amg T () T wwE

(=) == Hom (=) =T i

10
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A

“Yan Mahotsav® was started by :
(A) Dr. RV Singh (B) Dr. YS Parmar
{C) Dr. KM Munshi ([} None of these
‘m wEe' fEEd sy fewm
(w) = »m =t fiw (&) =1. = wW TN
(&) 3. % w T (=) v 7 wrf
Characteristic smell of Liquid Petroleum Gas is due 1o :

(A) Carbon dioxide (B} Chloro-flouro ethane
{C) Mercaptoethanol (D) Acetone

i g 1 favm T fewe wwo EE #2
(u) wriTETsiTaEE (#) FAM-TAE T
(dft) whuEEEE (=) T

Highest cricket ground is situated at:

(A) Dharmshala (B) Narkanda

(C) Dalhousie (D) Chail

wa S ez e vl fomm @2

() e (w1 ST

(wir) sl (#) ==

Which type of acid is found in Ant sting?

{A) Methanoic (B) Acetic

{(C) Lactic (D) Tartaric

HtH # % & ®A W demw wm oW 8

(m) () it

() #fFzs (%) emefrw

Which of the following is renewable resource?

(A) Petroleum (B) Coal

(C) Matural Gas (D) Forest

frefafas @ B w1 @ T W &

(w) feram (dit)

() wrefw m (=) =

1
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A
“Earth Day" is celebrated on :
(A) 22 Apnl (B) 22 May
(C) 22 September (D) 22 February
‘qedi ferm' fem fo W W @2
(@) 22 sle (dt) 22 =
(dt) 22 famen (#1) 22weri
The toxic gas responsible for Bhopal gas tragedy is:
(A) Carbon monoxide (B) Nitrous oxide
(C) Sulphur isocyanide (D) Methyl isocyanide
gom o wedt % fen wh o e oawmwnd G2
(u) s AFstFamE () mza stFoms
(dt) wEwT SMEETETGEE (#t) faams smHmErETEE
A book titled “Nature watch' is written by:
(A} Khushwant Singh (B) Satyajit Ray
(C) Salman Rushdee (D) Jaswant Singh
‘v ata’ e feam fewa foe #2
(@) o= () T
(dit) weam TEE (2) wwa= fdw
Wild life symbol of WWF is :
(A) Tiger (B) Pigeon
(C) Red Panda (D) Elephant
T WA § WWF =1 wis w87
(@) 1 (d1) =
(dt) == e (1) Wt
Ozone laver is present in:
(A) Mesosphere (B) Stratosphere
{C) lonosphere () Troposphere
siro o frafofas A & fog & oft =t # 2
(u) fasmafes () wEmfE
(#) smeafET (2t) FramafET

12
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&
State bird of Himachal Pradesh is :
{A) Peacock (B) Monal
(C) Sparrow (2} Jujurana
fearae WEW w1 TR v w82
() =n () sierer
(@t) fafem (%) T
The water reservoir of which dam in HP is famous for migratory birds?
{A) Kol dam (B) Bhakhra dam
(C) Pong dam {D) None of these

= 3 oy w1 ww ovEn vEnh o # fem ofeg #7

(7) = =l () vmam =y

(dt) o afe (#1) awirn & 7 w1 W

The place where animals are protected in their natural habitat is called as:

(A) Sanctuary (B) Zoo

(C) Biosphere reserve (D) All of these

aF e wE W WA W TR WEhE tum v oades fEmowe & e
=g 7

(@) shames () fafgm =

() SfEwvEe TfEw @ (%) sy =it

How much seed is required to raised 2000 plant of khair if its germination is 80% and
number of seeds per 10gm is 257

(A} 10kg (B) Tkg

(C) 20kg (D) 2kg

#1 % 2000 99 T & few feaw d@w =feg oft @ siwow 80 wiow §
sl 1om. # 25 W =W w7

(o) 10fF. (#) 1fEe.

(w) z20f. (gt) .

13
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Which one of the following is an ever green tree?

{A) Deodar {B) Darek

(C) Shisham (D) Semal

frafafam & 4 %5 @ 99 wemm &7

(@) Zeem (d) =

(%) ity (%) fomas

Which one of the following is not a forest product?

{A) Gum iB) Resin

{C) Kerosene (D) Plywood

frfefan 4 & s o = 9= W &

(v} i {&it) fazram

() foh w (%1) ==

Which of the following trees gives best fodder ?

(A) Mulberry (Morus) (B) Beul (Grewia)

(C) Khirak (Celris) (D)) Kachnar ( Bawhinia)

feafefem & @ ®h W 90 wod s = 2w &

(W) e () =g

() faz=w (B1) w=m

Resin is extracted from:

(A) Deodar (B) Chir

(C) Mango (D) Khair

frfofas 4,9 s 8 99 % faow e wm &2

(u) T (dt) g

(@) =m () &=

What was the main aim of *Chipko Movement'?

(A) Human rights (B) Political rights

(C) Agriculure Protection (I3} Forest Protection

‘faw sT=EE W g we s oan

(u) =rm s (#) Taffrs sfvsn

(i) =t w1 oy (%) =4 w1 T
14
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A

How many chir pine seedlings will be required for planting one hectare at 8x5m spacing?

(A} 25000 (B) 2500
{C) 250 (D) 25

T fFe ¥ xSHE T m odm W dhnwm # few e dat St s
wmit?

(w) 25000 (&) 2500

(#) 250 (=) 25

Which of the following trees yield wild fruis?

{A) Kaphal (B} Rubus

(C) Fig (I All of these

frefafan % @ ®1 Tz S ww owE @ §

() wrwer (dt) wwm

(gt} wEn (=) o i

Micro-organisms act upon the dead plant parts to produce:

{A) Mushroom (B) Gum

(C) Humus (D) Sand

T A g i # feed W owEew v owmoww @7

(W) 5= (dft) i

(&) T (&) T

Mames of endangered plant species are published in:

(A) Green data book (B) Red data book

(C) Plant data book . (D} Species data book

Ferar; e w7 wenfea w1 Tw few feew § weifem g @7

() =0 == fFom () = == fem

(dft) dhn zRr fEam (%) wmfr == frmm
15
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